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6.2C  Polynomial Multiplication

1. Thao, Louie and Monique were working on the following problems during class. Did they do the problems
correctly or not? Explain what they did wrong and fix their mistakes.
Thao Louie Y Monique
(x2—7)(—3x3+5x—4) (x+Mx—3) —3(2x2-5x+7)
:—3A@+5x@—4x+21x3 —35x+28 :x2@—2] = —6x7 —5x@ N 3
=-3x% +21x% +5x2 ~39x+28 Tovon > =3xt1x = Iy Didn desriv fe the ’
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Falx T3Sk ¥
:3 a -~
<[5 2oy Y 318 |
#2 — 11: Find each product. Your final answer should be in standard form.
2. 4x(x%-5x+8 3. —x2(7x3—13x+20 "T
| Xt i Ersasd
4. (x2—6xw7)(3x2—9x+14) S'Mﬂ
3 2 - 2> TT’T
SxT= I K Foxgdx-2x 753
/8% TfoA“Y‘f’X T
i = Ux t63x = 9%
23127 H4TH = 20x = 9% |
E)CZJ—{)@:&L\#N 7. x + 5) ( 3x 7)
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T — ;
| st 70 ]
6.2 1 CAN DEMONSTRATE UNDERSTANDING OF OPERATIONS WITH POLYNOMIALS. P-99




Name Period

6.2C  Polynomial Multiplication

#2 — 11 (continued): Find each product. Your final answer should be in standard form.

8. (6x/+5)2/,_//\ 9. (x2—6x+15)(5x—4) x
> ~ >
+box + 35 5x-9x
| 36 rborx +25 v o
t ) x ~ 6O

§>€‘* I + 99x ~ 0 }
0. 20 (30 +120-10) i, (4x—x2-3)(2x2 - x+6)
3]

(éx‘@ ax{#)‘/xq—an" ?)‘(‘Sﬂ‘/x‘/f-a?‘/xj o

— - (Qxf/ + )\(‘3 = X

L + 3 ~18

/gyﬁéx rasx” =1 +3A~/91

#12 —17: Find each product. Your final answer should be in standard form. Identify the y-intercept of
the graph of the equation.

12. y=(3x2-4)(x?+2)(x+3) Booy=(x-7
GX') ()(31‘ Bkaflx +6 >) / :j: ?y}— v + 97 /
3x* ¢+ 9x7 #é3+/<\’x e

~4y® —)Ax >~ ¥y -y
SHIxT £ ¢ (- Do -3y

HT:‘ 3'2(

y-intercept: "~ 24 y-intercept: L/ 7
14, y=3(-2x+15)(4x2 -1) 15. y=(x2+1)(x2 —4x+11)
2 ng E 2
XX FA 1‘50x =15 x' =9 x + Il x
BL Y/,L/)c x> =Y+

[ y= - dx 71506 6k ~4¥ Y= x4 v’ e #

y-intercept: - 75/ y-intercept: / ‘
16. y=(8-x2)(x+3) , 17. y=(5x-3)(x2-7x+11)
- g b - x = 3"

Yt I S XT3 ST
QJM, = 3x? ¢ dx ~33

o

@ Sx ~ 38" f7éa>c ‘33>
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y-intercept: &L'/ y-intercept: - 3}

18. What information about the graph of a polynomial is easily found when the equation is in standard for

m?
The cud hehovror s detegmine L by fodlong off He degree (Fhe
Q)/w‘/hmf% 2 Ponend w&,tweim,ﬁd g: fre 7,2 "7 Y
L) The
19

. The average amount of bananas (in pounds) eaten per person each year in the United States from 1995 to
2000 can be modeled by £ (x)=-0.298x> —2.73x% + 7.05x + 78.45 where x is the number of years since
1995. Graph the function using a graphing utility.

a) What is the y-intercept? Explain the meaning in the context of the problem. _ o
(“V\ ’0 ovn S)

7\?,1_{5/ ! iy\ (??Sﬁ) ’}/)'\Q Qf\fe/LZd)Z akuwv\?‘t of ‘Oawﬁ,wa S

ea-l'@v\p&kfww"h{ U; Wy 7g«5/

b) Is this function increasing or decreasing? Explain the meaning of this in the context of the problem.
Twosadsey Ao 1995 o (776 Fle—~ éem\,«?
W y ’
of Srvanar from 1996 S0 D0VO.

20. From 2005 through 2013, the number of paperback books N (in millions) sold in the United states and the
average price per book P (in dollars)can be modeled by N(¢) =1.36¢% +2.53¢ +1076 and
P(¢) = 0.314¢ + 3.42 where ¢ is the number of years since 2005.

a) Write a function for the total revenue (amount of money made) R received from the sales of paperback

books. K{f): ((),3/‘/&1'»3“'1)-)(/'34) L,?f'QaS'?‘&f/o7é)

0.427£3+0.099 €24 337. 8672
4 Y,651 +> +  P.653¢ 367795

Cﬁe Y= B.HTLR + S S + 34 6SI7t T3674. "ly
b) What was the total revenue from paperback books in 2005?

I 3079,92> millios o
o %é??)?}O)C)(DO

¢) What point on the graph represents this value?

3 - rmeoeF-f’

21. A rectangular swimming pool is twice as long as it is wide. A small concrete walkway surrounds the pool.
The walkway is a constant 2 feet wide and has an area of 196 square feet. Find the dimensions of the pool.

%JQ;: A povl + Sidedll) — ,44750/? = A cicewaic
N> 4 12 x +16 — ax} =
= A+ 12 % s x 16

widtIh x =75 (Ye +
+ h~ aa = 30 Leet

o€ poo |
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22. The revenue (revenue = profit — cost) in dollars from the sale of scooters can be represented by

R (x) = (~x2 + 6000) (x — 40) where x is the number of scooters sold.

a) Put the equation in standard form.

Ric)= =5+ 4ox>+ gooox = 240002

b) If they do not sell any scooters, what is the revenue?

R(0) "-f’&‘w/ o0

O DI G e ey . cost i L o
M\’f%& sukes @%ﬂ/”‘ wao 7O, )

23. Write an expression for the area of the triangle. 24.  Write an expression for the product of 3 more
Simplify the expression completely. than 4 times the square of a number and 7 less

/4._ ﬁ(?x—i’)(B 2<‘+S') than five times the number. Simplify.
(4x+3)($x-7) "

(A~ G @T ETI;“:;/J
3x+5 * -

A=—b-h
4x-8
25. Write an expression for the area of the box. 26. Write an expression for the area of the part of the
Simplify. floor not covered by the rug. Simplify.
5x -9 8x-2

A y\—c‘ms'ha ded
SBX}'HGV -

3x+5

Tx+4 x-1

A= (8x-2)(7x44) - sz+§>(x—/)
(G195 =8) ~ (3x7+ax-5) =
27. Think of a number. Subtract 7. Multiply by 3. Add 30. Divide by 3. Subtract the original number. The
result is always 3. Use a polynomial equation to illustrate this number trick.

3(n=)43e 0 =3

- + 3o
_3’1\__,_9.”—-————3——- — A
&
n -7 +/0 =M
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28. Find the missing term.

a) (x+5)(x+_2 )=x2+8x+15 b) (LX) (22 +3x-7) =20+ 627 ~14x

O (x-6)(x+71_)=x’-fg+42 d) (x+_\_5_)(x2+2x+4):x3+5x2+10x+12

29. The side of a cube is represented by x+41. Write an expression for the volume of the cube. Simplify.

Q(Jr I) (! )(xﬂ)(x +)

Qﬂ/f)(?( k] ) = X+ 933 +x
X* ot e 1

(Croetnl)

30. Let an integer be represented by x. Write an expression for the product of three consecutive integers
starting with x. Simplify.

X( x+0)(x+>) ~“/7
(Q{w%) r 3o )

31. N ( f ) represents the number of bags of chips that are sold when the school store has f flavors available for

sale and P ( f ) is the price, in dollars, of a bag of chips when there are f flavors available for sale. Write a
sentence explaining what N ( f ) -P ( /) means.

#h of VWW: ; auow‘a ofup; FmeS The
7\:@_ / b?jg é »b/ mmﬁ collected
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